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Note :
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Answers may be written either in English or in Hindi; but the same medium should be

used throughoul the paper.
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What do you undersand by production possibility curve ? How does production possibility

curve help in explaining the central problems of an economy ? : 10
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Find the equilibrium markef price and equilibrium market quantity for the t;olloWing'demar;d
and supply function : _ .3 -
Demaﬁd functidn :P=a~-5bQ
Supply function : P = ¢ + 4.Q
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Discuss the control of prices. Explain the consequences of price flooring and p_r.ice.
ceiling. | | T ' 10 -
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Describe consumer surplus. ﬁow 1S -the consumer surpius aﬁected_‘by an increase and.

decrease in price ? Draw appropriate diagrams. - 5
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Prove that the two parallel straight line (iemand curves have different elasticity at a given
price. | - lﬁ
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Explain the relationship between price elasticity of demand and total. revenue. - O
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Dist.inguish between Law of Diminishing M'arginz-il Utility anci the Law of Equi-margiﬁal
Utility. | a5
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Draw an indifference curve and explain why indifference curves are conVéx_to
origin 7 ' ‘ - 7.5
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Derive demand curves with the help of an indifference curve and budget line. 10_ '
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(a)

(b)

(@)

(b)

( 4 ) ' 65
A person spends all his income of Rs. 800 on two commodities X and Y, the prices

of which are Rs. 25 and Rs. 40 respectively. Construct the budget line and calculate

the slope of the budget line, _ .5
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Distinguish between returns 1o a factor and returns to scale.. ' 7.5
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How is the long run average cost curve derived from‘t:he_shon run average co'st
curves? '_ | 7.5
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Describe the equilibrium conditions of a firm under perfect competition in the short

Tun. ' ' ' 10
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Why is it said that the equilibrium condition of a firm under perfect competition in the

long run is allocatively efficient ? - 5

He § wE T uREh w fEE TR emee sy @ w2



- 8.

65
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Write-notes on aytwo: . - o - " (1.5,7.5)
(@) Price Mechanism and its role in -efﬁcientlallocation 6f resources
(&) Elasticity d_f dgman.cl at differgnt points on the straight line demand bu;'ve._.
(c) Derivation of supply curve of a ﬁrm and industry undér perfecf cv;nmpetition.,
ot @ oo foay ;
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